
(1) Rashida is ____ . (2) Tony is of a medium weight.
(3) William is fat.

thin

(1) Rashida is thin. (2) Tony is of a ____ ____ . (3)
William is fat.

medium weight

(1) Rashida is thin. (2) Tony is of a medium weight.
(3) William is ____ .

fat

(1) Rashida is ____ . (2) Tony is of a medium height.
(3) Samuel is tall.

short

(1) Rashida is short. (2) Tony is of a ____ ____ . (3)
Samuel is tall.

medium height



(1) Rashida is short. (2) Tony is of a medium
height. (3) Samuel is ____ .

tall

(1) Sarah is old. (2) Tanya is ____ .

young

(1) Sarah is ____ . (2) Tanya is
young.

old

She is ____ .

beautiful

She is ____ .

intelligent



He is ____ .

funny


